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35 |9 16| B=x z ERET | AEH 18.10 68.70 86.80
36| 9|16 B=E - ERE | KAF |[RHEET(<760) BHEET(<6.10) BEHET
37| 9 | 24| B=E z E R ET FL | BHEET(<750) BRHEHET(<6.30) HEHET
38| 9 28| BxE | fi(H#) | ERE BHE |BRHEET(<6.00) BRHEHET(<540) HEHET
39| 9 |28 B=E 40 E R ET I |BREET(<750) RHEET(<6.70) HRHET
40 | 9 | 28| B:E | Wi(H#) | ERE g |BEE9(<7.10) BEE9(<6.00) RHEET
41| 9 30| BE WM(EKE)| ERE FL |[BHEET(<9.60) BRHEHET(<890) HEHET
42| 9 30| E= TE = RET FL |[BHEET(<6.90) BRHEHET(<6.00) HEHET
439 | 7| Zofth | EK BE™T EE |BRHEEY(<6.90) RHEHET(<6.30) HEHET
4|9 | 7| zofts | IFBHD | ERET B 21.61 85.61 107.22
45| 9 | 7| Fofs | IFHHD | ERET B 27.07 105.59 132.66
46| 9 | 7| Foftt | IFBHD | ERET B 3.19 16.59 19.78
a7 | 9 | 7| =it | IFBHD | ERET B 7.38 34.08 41.46
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2 | 8|10 BHE | NEbe | ERE I |[MEET(<8.30)| mHEET(<7.00) HHET
3|8 24| BE | MFbe | RiFE | FEH |[HRHEET(<8.20) mEHET(<7.00) HwHEET
4 |8 |31 BxE HiEFbe | ERE KA |RHEET(<7.60) mHEHET(<6.30) BmHET
5|8 12| BFx | Ledlrd| ERME FHE |[BREE9(<9.50)|#HET(<8.20) BmHEET
6 |8 28| BHE Ledlrs| FH FH RHEET(<750) EmHEHET(<740) BwHEHET
7|8 31| FHE LCedAlt| ERHE NE |BEET(<11.40) HREET(<1050)| HHET
8 |8 10| Bx A7 EITET | GHEE |[BREEI(<5.20) BHEEI(<460) BREET
9 (8| 3| B <k E R ET IR | 97(<9.30) #mHE97(<8.40)| BHEET
108 18| Hx NEq = R ET I |[REET(<9.70)| mHEET(<940) H®HEET
11| 8 |25 %% 0y ERET | BEAR |[BREET(<680)BHEHEI(<580) HHET
12(8 | 3| HHx | E—<v | ERAE IR |BREE9(<5.70) B E9(<490) #HREET
13|18 6| HE | zavh | ERE | EkAF |[HREET(<680) HEHET(<580) RHET
14| 8 |25 HE | 33vh | ERET | @R |BREET(<730) BEET(<6.40) BREET
15|38 21| B= YAT E R ET BH |BREEY(<9.60) BHEET(<9.10)| HwHET
168 |12| HE EhE ERET | BHBE |[BREEI(<950)BHEEI(<880) HHET
17| 8 | 18| %% B=E =l R HT T |BmHEET(<9.20) mHEET(<7.90) ®wHEET
18| 8 |26| % BE E BT Fl |BmEET(<7.10)| mEET(<6.70), ®mHEHET
19| 8 26| R=E H =l R HT &I |BmHEET(<9.40) mHEET(<8.80) #H®HEET
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171 xR LCedlrg = R T AW BREET (<9.6)| Y (<8.9) BmEtEd
2171 HEx Xv¥=—— | ERHE AW BRHEET (<58)|®mEEY (<6.9) BmEtEd
3|71 Hx &FF = R T AW BREET (<78)| R (<6.8) BmEtEd
4 |7 1| BE Lednd | ERA I | BEET (<89 | HRHEET(L85) HwHET
5 |7|2| Bx KLz E R ET I | BEET(<88)|BHEET (L73) HwHET
6 | 73| Bx ZodY E R ET REA | BHEET(<66) BHEHET(L55) ®wHET
717 3| BE LATA = R BT KA |BRHEET (10D BEET(<89) HwHET
8 |7|3| BE FhF E RHT KA |BEET(K11.9)|REET(<107)| BHET
9 |73 BE odtodx| ERMA KA |BRHEHET(<136)BEHET(<108) HwHET
10|73 Hx 4T E R ET R | BEET (<9.2) BHEET(L7.7), ®HET
1m|7|3| % &= FEH Z)ET | BEET (<8I BRHEET (L7.1), ®wHET
12| 7| 3| HBxE HiFbe E R ET A |[EEET(<69) BREHET (<6.1) HEHET
137 3| BE FhE E BT FL BEET(<110) [ BEET(<98) ®wHET
14| 7| 3| HxE Fh& E R ET FL [ BHEHET (<93) | BEET (K9.1)] B®HET
157 6| HE &545ZL| ERA I |[#BMHET(<82) | HBHEET(<65)] WHEYT
16| 7| 7| BHE |CodLg = R T AU BREET(<L7.0) | HHET (<6.6) BmEtEd
17| 7| 8| ®/E |KLZ E3i=R:ig SRH BRHEE9(<86) | REET (L7.6) BmEtEd
18| 7| 8| FE |LohLrg = & BT MR BRHEET (<99 | BREET(<£9.2) BmEEd
19|7|9| HxE HiFbe E BT FL |BEET (<57 | BEET(L50) ®HET
20| 7 (10| BFE |FopdY = & BT L1 BREET(<9.0) | HHET (<L7.3) BmEEd
21| 7 |10 HFE 2=hvh = R BT i | BREET(<84) #BHET (K7.0)| BKRHET
22| 7 13| HFE Ledlry | ERE FU |BEEY (<74) | BEET(<64) ®wHET
23| 7 13| BE |CLodLg =l R HT I BRHEET(<82) | HHHET (<6.8) BmEEd
24 |7 13| BE |Zed5Y E BT BH |BEET(<95) | BEET(L79) ®HET
25| 7 13| HFE Ledlry | ERE BH |BEET (<57 | BREET(L51) ®HET
26| 7 13| HE [Ledt | ERAT g [ #EE9(<9.1) | BEET(<88)| #H®HET
27| 7 13| BE [Ledt | ERAT RE |BEET(K72) #HEET(L62) ®wHET
28 |7 13| HBE [Ledt | ERAT RE |BEET(K74) BHEET(L52) ®wHET
29 |7 14| BE [Ledt | ERAT s [MREE9(<108) WEE(<100), HHEET
307 14| BE FhE E R AT i [BRHEE9(<105) |[BEET(<98)| #H®HET
31| 7|14 HBxE (=Y = R #T = |BEET(<6.3) [ BREET(L55) ®HET
32| 7 14| BHE L7 [E| & BT B |BREET(<64) BHEET (L56) BmEEd
337 14| HxE Lot | ERA BE |[REET(<95) BRHEET(<93)| HmHET
34 |7 16| BxE HMiFbo = R H#T BA |#®HEET(<70)|#HmEHET(<60)| HmHEET
35 |7 16| HxE #HT E R ET BH |BREET(<76) #HEET(L63) ®wHEHET
36 |7 16| FxE ¥ E R ET BR |BREET(K72) #HEET(<62) ®wHET
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37 |7 21| HxE |3k E R ET KA |BEET(<96) BHEHET(<89) HwHET
38| 7|21 HXR K= = R BT I |[BREEY (<74) | BHEET(<62) ®HET
39| 7 21| HHE |kIk = R BT I |[REET(<94) BRHEET(<89)| H®HET
40 |7 21| HxE #HYT E RHT I |[REET (<71 BREET(<64)] H®HET
417 | 21| HFE HE = R T Pk H BREET (<78) | BREET (L7.2) BmEtEd
42 | 7 | 23| HE |hiTFbe = R T AU BRHEET (<99 | BREEY (<9.5) BmEtEd
43 | 7 23| BFE |E=hTh = R T AW BREET (<89)|®REET (<83) BmEtEd
44 | 7 23| BHE |(LHEAIL | ERHE AW BREET (<7.0) | BREET (<49) BmEtEd
45 | 7 | 24| HE (Lot | ERAT KA |BHEET(<82) | HmHET(L6.7)| BHET
46 | 7 24| HE J—v E R ET I |[BmHEET (<78) | HmEET(<66)] ®HET
a7 | 7 | 24| HE (L5HACL| ERAT I |[#BHET (<6.0)|BEET (L55)| B®HET
48 | 7 | 27| BE |bxh E R ET BH [BHEHET(<96) | BHEET(<85)| WHEYT
49 | 7 | 28| HxE #= E BT i | BREET(<8.0) #BHET (<6.7)| KRHET
50 | 7 28| HE |AO E BT I |[BHEET (<94) | BEET(<87)| B®HET
517 29| HxE [Ledt | ERAT g | #BEE9(<7.7) | BEET(<72)| #®HET
52 |7 29| BHE |(&53ACZL| HET )BT |BEET (<76) BHEET(L65) ®EHET
53| 7 30| BFE |EovpdY E3i=R:ig Pk H BREET (<7.1) | BREE9(<£6.0) BmEtEd
54 7 30| HxE F—<> [ & BT BH |BEEY(<92) | BEET(L17) ®HET
55| 7 (30| HxE #= E R ET FL |[BHEET (<81 | BEET(K70)| B®HET
56 | 7 30| BHxE |ZodY E BT FU |BEET (K17 | BEET(<62) ®wHET
57 | 7 |30| HE |(&54ACL| ERAT FL |[BHEET (<7.0) | BEET(<6.1)] B®HET
58 | 7 |30| FHE |MhiTFbe =l R HT I BRHEET (<5.1) | BREET (<L5.1) BmEEd
59 | 7 30| HE HiFbe E R ET FL |[BHEET(<93) | HBEET(<85)| B®HEYT
60 7 31| BxE |34 E R ET RE |BREET(<75) BHET(<64) BEHET
61|76 Z0it | BEOKRZE| FH FH |BEET(<1.08) | REHET (<1.24)] BEHET
62 (7| 7| Zoith FEEHAT| ERHET B8R |[HRHEET(<59) KREET (L5.6) - Jarhcarc
63 |7 8| ZDMh |IFBHD E BT AEE |REET(<6.14) |[BEET(L6.79) BKREET
64 | 7 | 21| =it Eril E R AT BHBE |B|HEE9(<6.2) | BEET (<58)| H®HET
65| 7 | 21| =it |#BFL ZHrET FEE |BRHEET(<68) | BEET (<62)| H®HET
66 | 7 | 21| Zofh | HEMEDIT| ERE | FHE |HRHET(<66) BRHEET(L60)| HEET
67 |7 21| Zzofh | HEMEDIH| ERE | BHE |[BRHET(K71) BHEET(<64)| BHEET
68 | 7 | 21| =it Eril ZHrET FEE |BREET(<60) | BEET (<54)| B®HET
69 | 7 23| KEW A FN:: T |mHEET(<73) 14.10 14.10
0|7 3| BE JS5A E R ET RAF |®BEET(<74) BHEET (<64)| H®HET
71|17 | 8| BE W [E| & BT mAH |[HRHEET(<85) KRHEET (L79) - Jarhcarc
72| 7 13| BE |# E R ET FLU  |BEEY (<74) | BREET(L63) ®HEET
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2 |6 2| BE |zrvdzory| ERHE I BT (<8.70) BEHET (L7.10)| HRHET
3 (62| BHE LER E R HET I |[BEET(<9.20) BEHET(<780)| HmHET
4 63| HxE JULE—X| ERHE HHE |RHEET(<860) RHEHET(<7.70)| HEHET
5|6|5| BHE FhF E RHT g [#HEE9(<840) #&HEET (<7200, HKREET
6 [6 9| HE LAITA E R HET NIRRT (<890) BHET(<7.90) H®HET
7 (6 10| FHE FhLF = R ET INR O |BHEET(<1220) [ BEET(<1080) | BREET
8 |6 12| BFE |Ledld | ERE FL |BEET(<9.30) BEHET(<830)| HHET
9 |6 12| BHE |EwiY = R T FIL  |BEET(<13.10) BEET(<1020)| BHHET
10| 6 |15 FxE LAITA E BT I |[BREET(<8.60) BHET (L780)| HmHET
11| 6 15| BHE FEhF = RET BHE |[BREET(<8.90) BEHET(<720)| HmHET
12| 6 | 15| HFE Fh& E R ET KA |BEET(<7.10) BHET(<5.90) ®HET
13| 6 16| FHE Ledld | ERAE KA |BHEET(<9.60) | RHEHET(<880)| HEHET
146 17| HE |45 = RET I BT (<950) BHET(<8.10)| HmHET
15| 6 |17 HE FEhF E R HET KA |BEET(<9.10)|[RHEHET(<840)| BEHET
16| 6 |22 FE =5V = RET BRHE |[|EET(<7.20) [#®EET(<6.00) KREET
17| 6 | 23| HE FEhF E R HET KA |BREET(<1040) | BRHEET(<950)| BEHET
18| 6 24| FHE Ledld | ERA NE  |[BHEET(<8.20)|BRHEET (<8.10)| #HEHET
19| 6|25 FHE 4T = RET 8T  |BRHEET(<860) BWEHET (K7.00)| HHET
20| 6 25| BE |Zop5Y = RET FL BEET(<730) BEET(<6.10)| RHET
21| 6 | 25| FHHE |LedE | FEH R)IET [HREET(<7.30) BEET (<640)| HRHEHET
22| 6 | 25| HxE Al FEm RJIE |[REET(<640) BWEET(<550) BWEET
23| 6|26 FHE =5V ESL) g |[#BEE9(<9.20) #®EET(<740) BREET
24 |6 26| HxE #HYT E R ET g |[#BEE9(<9.70) #®EET(<7.80) HKREET
256 29| HxE #HT E R AT I |[BREET(<7.10) HEET(<6.30)| BRHET
26 |6 |29 FHE [(CAIK = R ET T |REET(<12.10) BHEET(<11.10) V- Janhcach
27| 6 | 29| BFHE |FhF SATHT FER |BEEd(<13.20) |[BHEET(<11.20) V- Janhcach
28 | 6 | 29| EpE |LodWy | FiFHET FER |BEEd(<11.60) |[BHEET (<11.00) V- Janhcach
296 29| HBxE F—<> E BT T [RHEET(<13.10) BEET(<1030)| BHET
30| 6 |29 FE |Ledny | ERET T |[BHEET(<1250) #EET(<11.70) V- Janhcach
31| 6 |29 FHE FhF = R ET T |[BHEET(<11.80) BEET(<11.10) V- Janhcach
326 29| BxE |Zod5Y E R AT I |[REET(<8.60) HEET (L750)| BRHET
33(6/|3| WE HdV Nl FN:): 13.40 22.50 35.90
3| 6|4 WE It E R HET g [BREE9(<9.90) 21.70 21.70
35(6|5| WX |HdW) ERET | MREIS |[BHEET(<960) BEET(<9.10)] BEET
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36 | 6 30| WE |TOZ = RET FBAF |[BHET(<9.10) 17.60 17.60
37| 6 | 24| BE |i& E R ET NE  |[BHEET(<800) #&EET(<7.60) KRHEHET
8|6 | 1| Bx i E R ET I |[BREET(<9.90) BEHET(<9.20)| HRHET
39|6|2| BE XKpAF E R HET AARF |#BHEE9(<1060) BEHT(<850)| #HmEET
40 (6 | 3| BE | E R ET g |#HEE9(<6.60) #&EET(<6.00) KREET
416 | 3| BE |i& E RHT BARK |[RHEET(<840) BEET (L720)| HRHET
4226 8| BE | E R ET AR |[BEEd(<1050) BREET(<9.60)| RHEHET
43 |6 | 8| BE=E i SYTET FER |[BMEET(<5.20) #®EET (<5200 KREET
4|6 | 8| BE | E RHT BHE |[BREET(<9.80) BEHET(<9.00)| HmHET
45| 6 | 10| BE |1 E BT AKKRF |BREET(<1140) [REET(<1020)| BREET
46 | 6 11| BE i E R ET BE |RHEET(<7.70) RHEET(<740)| BEHET
47 | 6 | 15| BE |i E R HET RHEE |BHEET(<6.30) 9.40 9.40
48 | 6 | 16| BE |Ub = RET I BT (<950) BHET(<950)| HmHET
49 |6 17| BE |[Ub = RET AEE |[REET(<9.90) ®EET(<8.10) KRHEET
50 | 6 | 22| BE |iE E R ET KA |BHEET(<650) | RHET(<530)| HEHET
516 23| BE | E BT RA |BREET(<1150) |[BEET(<1030)| BHEHET
526 23| BE | E R ET g |[#BHEE9(<840) #EET(<7.10)| HKREET
53| 6|25 BZE |# ESLR:) 8T |BREET(<1070) BEET(<9.80)| MHmHET
54 |6 29| BE |is E R ET s [BREE(<1000) REET(<9.10), HHEET
55| 6 30| BE |i5 E R ET MR |BEET(<9.70) |[REET(<9.00)| HEHET
56 | 6 | 5| F0fth K= E R ET g |[#BEE9(<9.30) #®EET(<7.30) HKREET
57 | 6 | 8| ZDfth [LEVA—L| ERA g |[#BEE9(<9.00) #®EET(<740) HKREET
58 | 6 | 8| ZOfh |R/S—3Uh| ERHAT g |[#BEE9(<6.30) #@EET(<5.30) HKREET
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2 |5 11| BE |TEICAIK| EHRHE REA |BREETK 860 ) HRHEEIK 2210 ) HEHEET
3|5 12| HE |Fd3haAES| HF=EFH Z)IE |[BREETK 990 )|HRHEBTK 910 ) BWHEET
4 | 5|12 BFxE zRrvIzury| FEM Z)IET [REETK 1240 )|BREETK 1040 )| HRHEET
5|5 18] BHHE |FrvAvV E3RN:) BT |[BEETK 720 ) |BEETK 640 ) REEd
6 |5 18] BfE KR S YTHT FEE |[BRHEEFK 930 ) |[BEETK 750 ) BREHEY
7519 FxE HAnx FEH Z)IE |[BREETK 980 )|HRHEBTK 840 ) HWMHET
8 |5|19] BHHE Hihx REH IR |REETC 750 ) BREESTK 650 )| HHET
9 | 5 19| BxE |zrvizury| ERHET T |BREET 950 ) | mEETK 840 ) BREHEY
10| 5 19| FHE EhF RiEM Z)IE |[REETK 820 )| HRHEBTK 710 ) BWHEET
11| 5|19 HFE L4EX FEm Z)IE  |[REETC 920 ) REETK 800 ) HRHET
12| 5 19| Hx Forox| FEm Z)IE |[BREETK 920 )| HRHEBTK 800 ) HMHEET
13 (5|28 HE LA = RET RE |REEITK 770 )| REETK 890 )| BEHET
145 |28 % HS = RET RE |REETK 1150 ) REET 1060 )| HEHET
15| 5 28| ®HHE Xv¥x=—| {FEMH Z)IE |[REETK 780 )| HREBTK 910 ) BRHEET
165 1| WxE f=HoZ E R HET BB |BHEETC 1350 ) BEETK 1200 )| BHEET
17|51 | WE |Fo E RHET g [REETK 1080 ) BEETK 970 )| BRHEET
18| 5| 7| WE HoU = RET AKF |BEETK 1640 ) BREETK 1410 )] BRHEET
19|5| 7| WE LHSAS | WLEE KiRH 28.50 98.10 126.60
20 5| 8| WE 55U = R HT THHE |[BEETK 1280 ) BREETK 1180 )] BRHEET
21| 5 11| WE LEE = RHET RE |BHEETK 1680 )|MHEETK 1430 )| BHEET
22 |5 | 11| WE fHnc = R HET JBAE |[RHETK 1780 ) 18.80 18.80
23 (5|14 WE o fmE™ WINET  |[BREETK 1520 )| REETK 1370 )| HHET
24| 5 |15 WE fHDc Nl BHEEFK 970 ) 21.70 21.70
25| 5 18| WE |HhsoUw FE ZJIET HBRHEEITK 860 ) |HmEEIK 790 ) BRHET
26 | 5|18 WE 7% = RET BEH |[REEFK 820 ) HRHEETK 820 )| HHET
27| 5 19| WE |5IF = R HET Wi [REET 970 ) BREETK 860 )| HRHET
28 ([ 5|19 WE DK = R HET L% [BEETK 940 ) BHEETEK 900 ) - Janhcacy
29 5|19 WE HoWY = RET INRE |[BEETK 980 ) [BRHEETK 900 )| BREET
30 (5|19 WxE 7% = R ET RE |BREETK 740 ) |BRHEETK 660 )] BREET
31| 5|20 WE S53%L = R BT g [BREET 960 ) REETK 860 )| RHEET
32| 5|21 WE fHnc = R HET AEA |[REETK 560 ) 19.30 19.30
33| 5 25| WE |7% = R ET FL |BREETC 960 )| BEETK 800 ) HBEET
3|5 19 B 1Wvel = R i |[REEFK 860 )| BHEETK 730 ) HRHET
35| 5 19| Z0fth |£6<{E5 | ERHE MR [REETK 1150 )| REETK 1110 )] HHET
36| 5 27| Zofth HFK = RET #Fu 1.82 2.46 4.28
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2 |4 8| HE =¥ = R T BT |BRHEBT(< 1120 )| REET (<970 )| HBHET
3|4 2| BHxE =3 = R BT FIL |BHEET(< 950 )| BHEET (< 920 )| HBHET
4 |4 16| BHE =5 = R T BE |REET(<870 ) REET (<810 )| HBHET
5|4 10| BHER DEHE E R AT &I |BHEBI(<1070 )| REET (<910 ) RHEET
6 |4 9| X Ledls | ERE g [BREET(< 910 )| MEET (<770 ) BRHEET
7 (48| HE |FvAY = R T BT |BRHEBT(< 1120 )| REET (<940 )| HBHET
8 | 428 BHE |FrARY FE™ Z)IE |BREET (<1130 )| EELET (< 930 )| HBHET
9 | 4 14| BHHE HhilE = R HET RE  |BREET(< 1180 ) BEET (K 970 )] HRHEET
104 16| HxR HiEhi = R HET BRE  |BREET(< 1160 )| REET (<900 )| HHET
11 |4 16| HxRx HEhi E R BT BHE |#EEF(<1080 ) REET (<940 )| HRHEET
12| 4 28| HE HA FEM 2B |BEET(< 900 )| REET (K 850 )| KREET
134 3| HE MR E R BT NIA |BEET(< 780 ) BREET (K 700 )] BRHEET
14| 4|30 FHE TR = R HET KRR [BREET (< 900 )|HREET (< 820 ) HHRHET
15| 4| 6 | KEY A = R HET INR |[BREET(< 2170 ) BEET(< 1660 )|  FHRHEET
16| 4| 9| WX F&CAIK| BERE | ARE |BRELS(< 1000 )| BREET (<870 ) BREHET
17 | 4 | 13| WE |fEHIU FE™ AfEET |[REET (<1020 )| HBEET (<1010 )| REET
18| 4 /20| WE HLU E R T BE |BREET (<1140 )| BEET (<1110 )] BREET
19| 4 20| WE HLU ESL) INR [ BREET(<12.30 ) 13.60 13.60
20 | 4 | 23| WE |HBUV = R ET L (BB (<1170 )| HREET (<1010 )|  HHET
21| 4 |27 WE DUV = R ET BRE  |BREET(<1230 )| BREET (<1150 )| HHET
22 4|27 WE HoU ERE FEEEELBEET(<11.00 )|BREET (< 890 )| RBREHEHT
23| 4|28 WE HdU S HTHET AL |[BEET(<1270 ) 18.70 18.70
24 | 4 |28 WE |HBU = R BT BHE |#HEE€F (<1160 )| HREET (<1070 )] REET
25| 4|28 WWE HEU = R HET BHE |BEET(<1220 ) BEET (<1210 )] HREET
26 | 4 |28 WWE HEU = R HET BHE |BREET(<1350 ) BREET (<1190 )] HREET
27| 4 |20 WwE 7% E R T IR |BEET (<1560 )| BREET (<1420 )] BRHEET
28 (4| 3| WE |7+ SATHT A |REET (<1210 )| BREET (< 1110 )] BHET
29 | 4 | 14| WLE |7% = 5 ET A [BREET (<1110 )| REEF (< 1040 )|  BRHET
30| 4|23 WE 7F% = R BT s |HEET (<1120 )| BHEET (<1060 )|  HHEET
31| 4|23 WE 7% = R ET g [RERT (<1150 )| RHEET (<1060 ) BRHEET
32| 4|28 WE |7+ = 5 ET B |[REET(<1080 )| BREET (<1060 )| BREET
33| 4|30 WwE 7+ = R H#T KRR [BEET (<1150 )| REET (<1010 )|  HRHET
34| 4 13| WE |[503F FEM ASEET |REET (<1370 )| REET (<1150 )| BREET
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BEREEABREYPRNICEETN TV IRSEMERANETORKRE—ER
BREHRM: FR2754A 18 ()K) ~4A30H (K) (BAL:Bg(A)LIL) /Ke)

zp(WER|27IY & B | R < )

A H LS KF 71134 AP VNKYERR DLIN
35 (4 |14 WE =o0F = R T £ H 32.70 94.70 127.40
36 |4 |15 WE F=o0F = R T A HH 56.20 195.60 251.80
37| 4 20| WE |fzo03F = R HT AEE |BREET(<1150 )|RELT (<1070 )] BRHET
38 (4|22 WE =o0F BEM tyTE 17.00 60.90 77.90
39| 4 24| WLUE |03 = R ET g |[RERT (<1340 )| RHEET (<1190 ) BRHEET
40 | 4 | 27| WE |=bDF BA™ t7E |BRERT (<1080 )|HRHEET (<1160 ) RHEET
41| 4 | 17| WE |[fzHDl = R HT RKARFR [HBEET (<1430 )| BREET (<1370 )|  HHET
42 | 4 | 17| WFE |[fzFDl = R HT A [HREET (<1820 )| REET (<1530 )| HWHET
43 | 4 |22 WE |zt = R ET AR |BREET (<1480 )|RHEET (<1350 ) BRHEET
44 | 4 | 23| WE |zt HLARET HME  |REET(<110 ) BEET (<1010 )| BRHEET
45 | 4 | 24| WFE |[fzHFDl = R HT I |BEET (< 980 )| REET (L 850 )| RHEET
46 | 4 27| WE |[f=+DC E BT FHE |BHET(<1120 )| BHEET (<1020 ) BEET
47 | 4 | 27| WE |zH+D E R HET FL |BREET(<1340 )| BREET (<1230 )| BRHEET
48 | 4 | 27| WE |zt = R ET FIL |BHEET(<2040 )| BREET (<139 )| HHET
49 | 4 | 28| WE [z = R HET B |REET(<1090 ) REET (< 840 )| BHET
50 [ 4 | 30| WFE |+ BAET Hn |[Bmhed(<11.20 ) 37.70 37.70
51| 4|30 WXE [Fnl = R HT BA [BREET (<1040 ) REET (< 900 )| HBHET
52| 4 30| WE [FTAFEL =Fa] tyTE 3440 [#®mHEET (< 9.10 ) 34.40
53 | 4 | 17| WE |tV ESL) BEE |REET(<1040 )| REET (<880 ) RHEET
54 | 4 |21 WWE |CLHASL | ERE RE |BHEET(<1230 ) BREET (<810 )] BRHEET
55| 4 21| WWE |CLbSbL = R HT BEE |[REET (<1170 )|HREET (<1070 ) BRHEET
56 [ 4 |[23| WZE |CLHASS =l R HT A EH 815.80 228.10 1043.90
57 | 4 |24 WZE |CLHASS FEM 21| ET 418.10 124.40 542.50
58 4|24 WE |CLHASS FLFRET FLFRET 292.50 84.50 377.00
59 | 4 | 27| WE CLbss | FEmH 211 8] 276.20 961.90 1238.10
60 4 |27 WE |CLHASS BA™ tyTE 155.50 489.70 645.20
61| 4|30 WE |CLbsb HA™ t41E 668.60 190.30 858.90
62| 4 | 13| LWE ZZH FEM BEET [REET (<970 )| REET (<920 )| HBHET
63| 4 13| WE |ZZH =l R HT EH 19.80 54.50 74.30
64| 4 17| WE ZZH = 5 ET ARF |®RERT (<1210 )| REET (<1170 ), BRHEET
65 |4 17| WE |ZTH = R BT g |HEET(<1040 )| HMHEET (<950 )  HmHEET
66| 4 20| WHE ZH E R HET NIA |BEET (<1520 )| BREET (<1430 )| REET
67| 4|20 WE CH SEET FHEL |BEET (<1230 )|BEESF (<1170 ) BEET
68 |4 |21| WE ZZH = 5 ET BT |BREET (<1190 )| REET (<1010 )| HHET
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BEREEABREYPRNICEETN TV IRSEMERANETORKRE—ER
BREHRM: FR2754A 18 ()K) ~4A30H (K) (BAL:Bg(A)LIL) /Ke)

_ +i =

zp(WER|27IY & B | R < T

A|H AT 4 KF ) L134 +oH L1137 | EUNLEE
69 | 4|24 WE ZZTH = R ET N [BEET (< 990 ) BREET (< 820 ) FHRHEET
70| 4 27| WE ZH FE™ )BT |BREET (<1130 )| REET (<1030 )| BREET
71| 4 30| WE ZZH E R HET INRR 60.60 20.60 81.20
72| 4 30| WE ZZH = R T AR |RERT (<1440 )| BRHEET (<1290 ) BRHEET
73|47 | WE |[FnZ E R AT SHY 125.40 42350 548.90
74| 4 10| WE |[FnZ = R ET LiEp N5 166.70 566.10 732.80
75| 4 27| WE |55 = R ET I REET(<1060 )| REET (< 960 ) RHEET
76 | 4 27| WE |55 = R HT I [REE (<1090 )| RHEEF(<1000 )| RHEET
77| 49| WE K E R HET BEHE |BREET(<1030 )| HREET (<760 ) BRHEET
78 | 4 | 27| WZE |HF [E R HT i [BRHEEY (<1070 ) BEEI (< 970 )] HBHET
79| 4 | 28| WE DK = R ET BT |BEET(<1140 ) BREET (<1150 )| HHET
80| 4 13| WE |74 = R HET BEA [#®HEEY(< 1260 ) REEF (<1110 )] BHET
81 |4 |9 | Zih | X=E = R ET g |BREET(< 1060 )| MEET (<930 ) BRHEET
82| 4|24 #fts OYT E R ET ZFL |BHEES (<1770 )| BEET (<1510 ) BHEET
83| 4| 6| Znh (FBHD E R HET Em 26.49 88.64 115.13
84| 4| 6| 20 (FBHD E R HET Em 22.42 78.23 100.65
85 | 4| 6| ZDih |[TBAD ESLR:) Em 46.51 147.25 193.76
86| 4| 6| ZDih |[TBAD ESLR:) Em 17.46 86.89 104.35
87| 4| 6| Zh (FBHD ESLR:) SE 26.02 81.72 107.74
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